





SURAT MUNICIPAL CORPORATION CENTRAL ZONE QUOTATION FORM

QUOTATION No.CZ/Light/03/2024-25 DATE:30/09/2024							
NAME OF WORK	Quotation Inquiry for the Supply of Various Electrical Instruments and Tools at Central Zone Light Department (2 nd Attempt)						
Agency Category	Experience						
Required Documents							
1 GST Registration							
ISSUING AUTHORITY	Executive Engineer, Central Zone, Surat.						
ISSUING OFFICE	New Admin Building, Central Zone, Mugalisarai, Surat - 395003						
INVITING AUTHORITY	Executive Engineer, Central Zone, Surat.						
Submition Date	TILL: 10/10/2024 UPTO 18:00 P.M.						
SUBMITTED To,	EXECUTIVE ENGINEER, NEW ADMIN BUILDING, CENTRAL ZONE, MUGALISARAI, SURAT - 395003						
GST CLAUSE FOR	· · ·						
INSTALLATION/ REPA	IRS/ MAINTENANCE/ RENOVATION/ FABRICATION OF						
	NG BUILDING (MEANS ALL WORKS CONTRACT/ TURN						
	Y OF MATERIAL/ GOODS) e tax has come in existance from 1st July, 2017. Contractor/						
	and to pay any amount of GST prescribed by the govt. of India						
	contract agreed upon during the course of execution of						
this contract.							
•	cution of contract, if there is any change in rate if GST (Goods						
	he Government, the same shall be reimbursed/ recovered ject to the submission of original receipt/proof for the amounts						
	contractor/ successful Bidderer to the competent Authority						
	rom Chartered Accountant of contractor/ successful Bidderer						
certifying that the amou	ant of GST paid to the government and the same shall be						
	aimed within 30 (Thirty) days from the date of payment.						
	hin stipulated period shall be the sole responsibility of the						
	idder, failing which SMC may recover the amount due, from with SMC and decision of Municipal Commissioner shall be						
	contractor/ successful Bidder in this regard. Further, the non-						
	overnment may lead to the termination of contract.						
If imposition of any other new taxes/ Duties/ levies/ Cess or any other incidentals etc.							
or any increase in the existing taxes/ Duties/ Levies/ Cess or any other incidentals etc.							
(Excluding GST) are imposed during the course of the contract, the same shall be							
borne by the successful contractor/Biderer only; in no case SMC shall be liable for the same.							
SIGNATURE OF ISSUING AUTHORITY							
S/D							
EXECUTIVE ENGINEER							
CENTRAL ZONE SURAT MUNICIPAL CORPORATION							





Executive Engineer Central Zone



Surat Municipal Corporation, Central Zone, New Administration Building, Muglisara, Surat - 395 003. Ph. No.: 0261-2432751-56.

QUOTATION INQUIRY

CZ/Tech./No.: - 2979 Dtd. 30/09/2024

To,	
	••
	••
	••

Sub: - Quotation Inquiry for the Supply of Various Electrical Instruments and Tools at Central Zone Light Department (2nd Attempt).

Dear Sir,

Surat Municipal Corporation Central Zone is inviting quotation for the work of Supply of Various Electrical Instruments and Tools at Central Zone Light Department.

Therefore, you are requested to submit your offer in given format to "Executive Engineer, Central Zone, Surat Municipal Corporation, Surat" in a sealed cover with mentioned subject & last date of receiving. So as to reach in the office of under signed on or before 10/10/2024.

Please note that the sealed cover shall be super scribed with the name of Quotation Inquiry for the Supply of Various Electrical Instruments and Tools at Central Zone Light Department (2nd Attempt).

> S/D Executive Engineer Central Zone Surat Municipal Corporation

Encl.: - Terms & Condition & Offer Schedule





Terms/Conditions of Quotation

*	All Taxes/ Duties, Transportation, GST, levies, duties, transportation and labour charges etc.: -	Included
*	Validity of Quotation: -	120 Days
*	Estimated Amount: -	Rs.2,75,000/-
*	EMD Amount: -	Rs.2,750/-
*	Payment condition: -	100% Payment shall be made within 30 days after work completion and submission of invoice.
*	Note: -	The successful Contractor shall also be required to enter into contract agreement along with undertaking and local surety on Gujarat Stamp Paper purchased from Surat worth Rs. 300.00 for Each (To be brought by the contractor) on getting the order.

Terms and Conditions:

- 1. The rate should be inclusive of GST, all taxes, duties, labor charges, and transportation, loading unloading for the site basis.
- 2. Bidder must offer 1 year manufacturer warranty from the date of supply.
- 3. Rates should be filled in this quotation paper only and returned duly sealed & signed.
- 4. The above work of supply has to be completed within 15 days from the date of work order/ LOI otherwise penalty @ 0.2% of amount unexecuted work per day for delayed work should be recovered from your bill or otherwise. The amount of maximum delay penalty shall be equal to 10% of unexecuted amount of work order.
- 5. No payment shall be made in advance. 85% payment shall be released after supply of materials/ instrument satisfactorily. Remaining 15% payment shall be released after observation of functioning of the various instruments for 1 month and found the same satisfactory.
- 6. Payment shall be made as per prevailing practices/ processes/ circulars related to payments in SMC.
- 7. The offer shall be submitted in a sealed cover to "Executive Engineer, Central Zone, Surat Municipal Corporation, New Admin Building, Mugalsarai, Surat 395 003".
- 8. SMC reserves its right to accept or reject any quotation without giving any reason.
- 9. Corporation will not issue any 'C' or 'D' form.
- 10. Contractor/ supplier have to submit the technical catalogues for the various instruments/ items offered by them. If the spefication(s) of the offered instruments/ items not found equivalent or better than the specified in the quotation than offer of such contractor/ supplier shall be rejected.
- Successful contractor shall be required to deposit an amount equal to 5% of total order value as Security Deposit in Cash/ by Demand within 10 (Ten) days from date of work order, otherwise penalty @ 0.065% of the Secuirity Deposit Amount per day of delay shall be charged.
- 12. Calculation of applicable GST, TDS deduction etc. shall be done as per prevailling GST act/rules/regulation.

13. The name of work i.e. "Quotation Inquiry for the Supply of Various Electrical Instruments and Tools at Central Zone Light Department (2nd Attempt)." must be mentioned on the envelope without which quotation is likely to be rejected, which must be noted.

Thanking you.

S/D

Executive Engineer, Central Zone, Surat Municipal Corporation.

* SIGNATURE & SEAL OF CONTRACTOR *





SURAT MUNICIPAL CORPORATION

OFFER SCHEDULE

Name of Work: -Quotation Inquiry for the Supply of Various Electrical Instrument
and Tools at Central Zone Light Department (2nd Attempt).

Sr. No.	Description	Qty.	Unit	Price per Unit (Incl. GST)	Total Amount	Offered Make
1	Supply of 1000 V Analog multi range Insulation Tester Metal Body Range 0 to 2000 M ohm equivalent to Model Rishabh ITMR-2- 1052010. Make:(Kusam-meco,	2	No.	5474.00	10948.00	
	Rishabh, Megger) Supply of 1 kV Digital	<u></u>				
2	Insulation Tester equivalent to Model Rish Insu 20.Insulation resistance range- 10 K.ohm- 2 G.ohm	2	No.	5870.00	11740.00	
	Make:(Kusam-meco, Fluke, Megger, Rishabh)					
3	Supply of Analog Earth Tester Equivalent to Model Rishabh FETP-10. Resistance Range-0-10 Ω -0-100 Ω -0-1000 Ω - 0-10000 Ω Make:(Kusam-meco, Fluke, Rishabh)	3	No.	4420.00	13260.00	
4	Supply of Phase Sequence Indicator Equivalent to Model Kusum-Meco KM 981-MK-1. Frequency Range- 20-400Hz, Voltage Trange-60-600V Make:(Kusam-Meco, Meco, HTC)	1	No.	2350.00	2350.00	
	Supply of Digital AC/DC	-	/	1.1.		
5	Clamp Meter True RMS 300 A, 1000 V Equivalent to Model Rush Clamp 300 A AC/DC.	2	No.	7980.00	15960.00	
	Make:(Kusam-meco, Fluke, Rishabh)					
6	Supply of Digital AC/DC Clamp Meter True RMS 1000 A, 1000 V Equivalent to Model Rush Clamp 1000 A AC/DC. Make:(Kusam-meco,	2	No.	10940.00	21880.00	
	Fluke, Rishabh)					
7	Supply of Digital Multimeter Equivalent to Model Rishabh MM67-401F00Z000000.	1	No.	1862.00	1862.00	
	Make:(Kusam-meco, Fluke, Rishabh)					





Sr. No.	Description	Qty.	Unit	Price per Unit (Incl. GST)	Total Amount	Offered Make
8	Supply of Digital Power Clamp Meter Equivalent to Model Rishabh CL30- 3FZ0000000000.	1	No.	11870.00	11870.00	
	Make:(Kusam-meco, Fluke, Rishabh)					
9	Supply of Digital Vernier Caliper .Measurement Range: 0-150mm, Model: Skadioo 6inch	2	No.	2930.00	5860.00	
10	Supply of Angle Grinder Equivalent to Model Bosch GWS 800. Rated i/p Power- 800- 980W Make: Bosch, Hitachi, Stanley	2	No.	2740.00	5480.00	
11	Supply of Cordless Drill Driver Model Bosch GSR 120 +1 x2.0Ah. Make: Bosch, Dewalt, Stanley	2	No.	5290.00	10580.00	
12	Supply of Electric Air Blower Equivalent to Model Bosch GBL 82-270. Rated i/p Power- 801- 900W, Rated speed- 15001- 20000 RPM Make: (Bosch, Hitachi,	3	No.	2950.00	8850.00	
4	Stanley, Dewalt,) Supply of Electrician Kit-					
13	Hand Tool Kit Model Stanley Electrician-Kit (43-pieces)	21	No.	3000.00	63000.00	
14	Supply of Electrical Safety Hand Gloves 11 KVA Pack Of 1 Pair Model VIDYUT MAKE SSWW195.	2	No.	620.00	1240.00	
15	Supply of 25 to 400 mm² Compression Hand Tool Equivalent to Model Jainson Surya- 400.	1	No.	8950.00	8950.00	
16	Supply of 25 to 400 mm² Compression Hand operated Hydraulic Tool Equivalent to Model Jainson Ashoka- 400.	1	No.	18620.00	18620.00	
17	Supply of 0.5 to 16 mm² Compression Hand Tool Equivalent to Model Jainson Samrat- 16.	1	No.	685.00	685.00	
18	Supply of Vardhman 33kV 1x2m Rubber Insulation Mat, Class C, Thickness 3 mm.	3	No.	1500.00	4500.00	
19	Supply of Vardhman 11kV 1x2m Rubber Insulation Mat, Class B,Thickness 2.5mm.	10	No.	1350.00	13500.00	





Sr. No.	Description	Qty.	Unit	Price per Unit (Incl. GST	Total	Offered Make
20	Supply of 27 Pcs. Square Drive Hex Socket Set Equivalent to Taparia Model S- 11HXL.	2	No.	4400.00	8800.00	
	Make: (Taparia, Estman) Supply of Rechargeable LED					
21	Torch Equivalent to Model Wipro Lustar. Rated i/p Power- 3W <u>Make: (Wipro, Phillips,</u> <u>Eveready)</u>	3	No.	535.00	1605.00	
22	Supply of Heat Gun Equivalent to Model Bosch make GHG 180, Rated i/p Power-1800W, Working Temperature- 60-550 C, Air Flow- 350-550 l/min.	1 No	No.	1850.00	1850.00	
	Make: Bosch, Dewalt, Stanley					
23	Supply of Red Metal 440 V Danger Sign Board . Dimension: (9x8)" Outdoor type	200	No.	85.00	17000.00	
	Supply of Shock Treatment Chart Sticker Print.					
24	Size: 1.5 x 2.0 feet Language: Gujarati, Hindi & English	200	No.	70.00	14000.00	
		C 2743	90.00			
-	I/We here by agreed to execute the above-mentioned work as per terms, Ccondition and specification mentioned in Quotation and amount at PAR/ % above/below; in words					

S/D

Executive Engineer Central Zone Surat Municipal Corporation

* SIGNATURE & SEAL OF CONTRACTOR *